
   Name:              Date: 

 

No. Problem Answer Key 

1.  Find GCF of the following:  15𝑥 , 25 
 

 

2.  Find GCF of the following:  3𝑎2, 3𝑎, 60 
 

 

3.  Find GCF of the following:   8𝑐2𝑑7𝑒, 6𝑐3𝑑4 
 

 

4.  Factor by removing GCF:  5𝑥 + 20  

5.  Factor by removing GCF:   10𝑥3 + 6𝑥     

6.  Factor by removing GCF:  3𝑥5 + 12𝑥2  

7.  Factor by removing GCF:  21𝑥2𝑦 − 28𝑥𝑦2  

8.  Factor by removing GCF:  8𝑎3 − 8𝑎2 − 48𝑎  

9.  Factor by removing GCF:  3𝑎2 − 21𝑎 + 30 
 

 

10.  Factor by removing GCF:   16𝑥5 − 20𝑥4 + 8𝑥3  

11.  Factor by removing GCF:   
8𝑎3𝑏2 + 16𝑎2 𝑏3 + 20𝑎3𝑏3 

 

12.  Factor by removing GCF:  

16𝑎5𝑏4 − 24𝑎2𝑏5 − 8𝑎3𝑏3 

 

13.  Factor by removing GCF:  
10𝑥4𝑦2 +  20𝑥3𝑦3 − 30𝑥2𝑦4 

 

 



    Name:              Date: 

 

No. Problem Answer Key 

1.  Find GCF of the following:  15𝑥 , 25 
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2.  Find GCF of the following:  3𝑎2, 3𝑎, 60 
 

3 

3.  Find GCF of the following:   8𝑐2𝑑7𝑒, 6𝑐3𝑑4 
 

2𝑐2𝑑4 

4.  Factor by removing GCF:  5𝑥 + 20 5 (𝑥 + 4) 

5.  Factor by removing GCF:   10𝑥3 + 6𝑥    2𝑥 (5𝑥2 + 3) 

6.  Factor by removing GCF:  3𝑥5 + 12𝑥2 3𝑥2(𝑥3 + 4) 

7.  Factor by removing GCF:  21𝑥2𝑦 − 28𝑥𝑦2 7𝑥𝑦 (3𝑥 − 4𝑦)   

8.  Factor by removing GCF:  8𝑎3 − 8𝑎2 − 48𝑎 8𝑎(𝑎2 − 𝑎 − 6) 

9.  Factor by removing GCF:  3𝑎2 − 21𝑎 + 30 
 

3(𝑎2 − 7𝑎 + 10) 

10.  Factor by removing GCF:   16𝑥5 − 20𝑥4 + 8𝑥3 4𝑥3(4𝑥2 − 5𝑥 + 2) 

11.  Factor by removing GCF:   
8𝑎3𝑏2 + 16𝑎2 𝑏3 + 20𝑎3𝑏3 

 
4𝑎2𝑏2(2𝑎 + 4𝑏 + 5𝑎𝑏) 

12.  Factor by removing GCF:  

16𝑎5𝑏4 − 24𝑎2𝑏5 − 8𝑎3𝑏3 
8𝑎2𝑏3(2𝑎3𝑏 − 3𝑏2 − 𝑎) 

13.  Factor by removing GCF:  
10𝑥4𝑦2 +  20𝑥3𝑦3 − 30𝑥2𝑦4 

10𝑥2𝑦2(𝑥2 + 2𝑥𝑦 − 3𝑦2 

 


